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Rttp://130.149.60.45/~farbmetrik/TE66/TEGBLONA. TXT /.PS; Start output
N: no 3D-linearization (OL) in file (F) or PS-startup (S), page 1/3

log AL luminance difference Lg:6‘3cd,ng

threshold
X oy
A 034 040 yarg g P-A3-fit

4 Y 045 047 Ap s agY
0’15 0,19 average

0,58 0,32
0,25 0,44

log AL luminance difference nge,scd/n?

threshold
X oy
A 034 040 arg g P-A3-fit

4 Y 045 047 Apes agB
0'15 0,19 average

0,58 0,32
0,25

log AL Iuminan(ée difference nge,acd/n?

threshol
Xy
A 034 040 arg g P-A3-fit

§ Y 045 047 Apogs AR
0’15 0,19 average

0,58 0,32

log AL luminance difference nge,acd/n?

threshold
X oy
A 034 040 yarg g P-A3-fit

§ Y 045 047 Apogs ARG
0’15 0,19 average

0,58 0,32
0,25

TE660-7N_1
TE660-7N

log AL luminance difference Lg:6’3cdmg

threshold
S y
A 0,34 0,40 data & P—-A3-pc—fit

L Y 045 047 Ap 265 AgY
015 019 ,uerage

0,58 0,32
0,25 0,44

log AL luminance difference nge,scd/n?

threshold
X y
A 0,34 0,40 data & P—-A3-pc—fit

L Y 045 047 ap 265 AGB
015 019 ,uerage

0,58 0,32
0,25 0,44

log AL luminance difference Lg:6’3cdmg

threshold
X oy
A 034 040 yarg g P-A3-fit

L Y 045 047 yR 265 A&Y

0,15 0,19
0,58 0,32
0,25 0,44

average

log AL Ilﬁminan%e difference nge,scd/n?

threshol
X y
A 0,34 0,40 data & P—-A3-pc—fit

L Y 0,45 047 Ap 265 AGR
RN

0,58 0,32
0,44

log AL luminance difference nge,scd/n?

threshold
X oy
A 034 040 yarg g P-A3-fit

L Y 045 047 pg 265 AZB

0,15 0,19
0,58 0,32
0,25 0,44

average

log AL luminance difference nge,scd/n?

threshold
X y
A 0,34 0,40 data & P—-A3-pc-fit

L Y 0,45 047 Ap 265 AGG
0,15 0,19 average

0,58 0,32
0,25 0,44

TE660-8N_1

log AL Iuminant(:je difference nge,scd/n?

threshol
Xy
A 034 040 yarg g P-A3-fit

L Y 0,45 047 gy 265 AGR

0,15 0,19
0,58 0,32
0,44

average

log AL luminance difference nge,scd/n?

threshold
X oy
A 034 040 yarg g P-A3-fit

L Y 0,45 0,47 Ap 265 AGG

0,15 0,19
0,58 0,32
0,25 0,44

average

log AL luminance difference
threshold
Xy

A 0,34 0,40 data & P-A3-pc-fit

4 Y 045 047 «poes Y
0,15 0,19 average

0,58 0,32
0,25 0,44

log AL luminance difference Lg:6’3cd,ng

threshold
X y
A 0,34 0,40 data & P-A3-pc-fit

4 Y 045 047 pg 065 agB
0,15 0,19 average

0,58 0,32
0,25 0,44

log AL Iuminan%e difference Lg:6’3cd,ng

threshol
X y
A 0,34 0,40 data & P-A3-pc-fit

4 Y 045 047 gy ogs AR
0,15 0,19 average

0,58 0,32
0,25 0,44

log AL luminance difference ngs’gcd,ng

threshold
X y
A 0,34 0,40 data & P-A3-pc-fit

4 Y 045 047 Ap 265 ARG
0,15 0,19 average

0,58 0,32
0,25 0,44
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TUB-test chart TE66; threshold daaramopolos (89)
tp=26s, 4 observers, average, P-A3-pc-tit, 6,3ed/m

Y

input: w/rgb/cmyk —> w/rgb/cmyk
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Rtip://130.149.60.45/~farbmetrik/TE66/TEGBLONA. TXT /.PS; Start output
N: no 3D-linearization (OL) in file (F) or PS-startup (S), page 2/3

log L/AL luminance contrast | _
sensitivity threshold L g=6,3cdin?

T data & P-A3 ... e y
AD 26s A%( A 0,34 0,40
1 averaze Y 0,45 0,47
: 0,15 0,19
0,58 0,32
0,25 0,44

(:) ] 2 x=logL

log L/AL luminance contrast , _
sensitivity threshold Lg=6,3cd/n?

T data & P-A3 s«
AD 26s /.5
1 average

log L/AL luminance contrast  _
sensitivity threshold Lg=6,3cd/n?

T data & P-"% ui X y
AD 26s..:.2R A 0,34 0,40
+ averige Y 0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

é x=logL

log L/AL luminance contrast | _
sensitivity threshold L g=6.3cdin?

T data & P-A3 -,
AD 26s *..G
1 aver=ge

TE660-7N

TUB-test chart TE66; threshold daaramopolos (89)
tp=26s, 4 observers, average, P-A3-pc-tit, 6,3ed/m

log L/AL luminance contrast , _
sensitivity threshold L g=6,3cdnf

log L/AL luminance contrast | __
sensitivity threshold L6 3cdin?

F data & P-A3 Lc—fit
AD 26s 4.8
| averrge

log L/AL luminance contrast | _
sensitivity threshold L6 3cain?

F data & P-"3 pc—fit Xy
AD 26 ALR A 0,34 0,40
L ave.age Y 0,45 047
0,15 0,19
0,58 0,32
0,25 0,44

é x=logL

log L/AL luminance contrast | __
sensitivity threshold L6 3cain?

F data & P-A2 pc—fit
AD 26s ALG
L average

TE660-8N_2

Y

log L/AL luminance contrast | _
sensitivity threshold L g=6,3cd/n

F data & P-A3- i X y
KR 26s A.{ A 0,34 0,40
| avera~. Y 0,45 0,47
: 0,15 0,19

0,58 0,32

0,25 0,44

é x=logL

log L/AL luminance contrast | __
sensitivity threshold L6 3cain?

I data & P-A3- "« Xy
PO 26s 7 «B A 0,34 0,40

. average Y 0,45 0,47
0,15 0,19

0,58 0,32

0,25 0,44

é x=logL

log L/AL luminance contrast | _
sensitivity threshold L6 3cain?

I data & P—"" -a. X y
BM 26s %R A 0,34 0,40
L aver.ge Y 045 047
0,15 0,19
0,58 0,32
0,25 0,44

é x=logL

log L/AL luminance contrast | _
sensitivity threshold L6 3catin?

F data & P-A3 .
AD 26s MG
L aver=ge

TE661-7N_2

input: w/rgb/cmyk —> rgly
output: transfer togh

log L/AL luminance contrast | _ <
sensitivity threshold -g=0-3¢4/n*

log L/AL luminance contrast | _
sensitivity threshold Lg=6,3cain?

T data & P-A? pcfit Xy
PO 26s .8 A 0,34 0,40
+ aversge Y 0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

é x=logL

log L/AL luminance contrast |, _
sensitivity threshold Lg=6.3cain?

T data & P-"3- Lcfit X y
BM 26< AR A 0,34 0,40
4 average Y 0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

é x=logL

log L/AL luminance contrast , _
sensitivity threshold Lg=6.3cdin?

T data & P-A2 pcfit
AD 26s ALG
4 average

uoneledas ou ndino Ae|dsIp JO UaWaInsSeaw oy uonedidde

Bas gL\

Sd’/ 1XL'¥N019931/993 L-T0Z0ETOC :UONeS NS

9po2 :eusrew gn.i

U




IWIS 89S

WLH 9931/993 LMW e}~/Sy" 09 67T 0 T//-dNY S|l J

—
®
(@]
>
2.
o
=R
5
=
=]
=
3
Q
=
o
=
=
=

©
§

o
o
o
Q
3
Q.
)
o
=
=
=

°
=
[y
W
o
[EEY
N
©
(o))
o
S
a
~
L
Q
=
o
3
®
=4
=

L/AL luminance contrast
sensitivity threshold

401 X Y
A 0,34 040 10 0
L Y 045 047 ap 26, A
0,15 0,19
0,58 0,32
20T © 0,25 0,44

301

average

Rtip://130.149.60.45/~farbmetrik/TE66/TEGBLONA. TXT /.PS; Start output
N: no 3D-linearization (OL) in file (F) or PS-startup (S), page 3/3

Lg=6,3cd/n?

AR- it
&Y

TE660-1N_3

L/AL luminance contrast
sensitivity threshold

401 x v
A 034 040 yoing
[ Y 045 047 Ap 6. A
0,15 0,19
0,58 0,32
20T © 025 0,44

301

average

10--

Lg=6,3cd/n?

AR- it
&B

0

TE660-3N_3

L/AL luminance contrast
sensitivity threshold

4071 X v
A 034 040 yyog
L Y 045 047 Ap 26, A
0,15 0,19
0,58 0,32
201 0,44

301

ave: Je

10--

Lg=6,3cd/n?

a2 3

&R

0

TE660-5N_3

L/AL luminance contrast
sensitivity threshold

401 x v
A 034 040 yiing o
L Y 045 047 Ap 26, A
0,15 0,19
0,58 0,32
20T © 025 0,44

301

average

Lg=6,3cd/n?

ARt
&G

TE660-7N_3

TE660-7N

TUB-test chart TE66; threshold daaramopolos (89)
tp=26s, 4 observers, average, P-A3-pc-tit, 6,3ed/m

L/AL luminance contrast
sensitivity threshold
401 X VY
A 034 040 yagg 0 Az o &
30+ ¥ 245 047 Ap2e; Agy
015 0,19 ,yeage
0,58 0,32
0,25 0,44

Lg=6,3cd/n?

TE660-2N_3

L/AL luminance contrast
sensitivity threshold
401 X VY
A 034 040 yag8 0 Az o &
304 ¥ 045 047 ap 26, AcB
015 0,19 ,yeage

0,58 0,32
20T © 0,25 0,44

Lg=6.3cd/n?

101

0

TE660-4N_3

L/AL luminance contrast
sensitivity thresholr:
401 x Y
A 0,34 0,40 datr. @ 9 A= o TEL
304 ¥ 045 047 a6, AGR
015 0,19 ;yeage

0,58 0,32
20T 0,44

Lg=6.3cd/nf

101

0

TE660-6N_3

L/AL luminance contrast
sensitivity threshold

401 *x Y
A 034 040 15 g 0 AR £t
304 ¥ 045 047 Ap 26, AkG
015 0,19 40 400
0,58 0,32
20T © 0,25 0,44

Lg=6.3cd/nf

TE660-8N_3

Y

L/AL luminance contrast
sensitivity threshold
40T X Y
A 0,84 0,40 g5 ¢ p-a3-iic
[ Y 045 0,47 R e nov
0,15 0,19
0,58 0,32
20T © 025 0,44

Lg=6,3cd/nf

30

avriage

TE661-1N_3
L/AL luminance contrast
sensitivity threshold
40T X Y
A 034 040 yarg g P-A3-fit

304 ¥ 045 047 pg 265 AgR
015 0,19 ,eoe

0,58 0,32
20T © 025 044

Lg=6.3cd/nf

101

0

TE661-3N_3

L/AL luminance contrast
sensitivity threshold

401 X y
A 034 040 yag g P-A3-C?

304 Y 045 047 gyogga -
015 0,19 e .-
7
0,58 0,32
201 0,44

Lg=6.3cd/nf

101

0

TE661-5N_3

L/AL luminance contrast
sensitivity threshold

40T X Y

A 0,34 0,40 data 8. 0 A2-

304 ¥ 045 047 Ap 26, A&G
DRy A%

0,58 0,32

20T © 025 0,44

Lg=6.3cd/n?

TE661-7N_3

input: w/rgb/cmyk —> rghy
output: transfer togb

L/AL luminance contrast
sensitivity threshold

40T X y

A 0,34 0,40 data % P-A3-po-fit

| Y 045 047 yR -
0,15 0,19
0,58 0,32
0,25 0,44

307
aviffage

TE661-2N_3
L/AL luminance contrast
sensitivity threshold
40T X Y
A 0,34 0,40 data & P-A3-pc-fit

30+ ¥ 245 047 po 265 AsR
015 019 o5 o

0,58 0,32
0,25 0,44

Lg=6,3cd/n?

TE661-4N_3

L/AL luminance contrast
sensitivity threshold

40T X Y

A 0,34 0,40 ata 5 P-A3-po—itt

30+ ¥ 045 047 gy ogs anr
015 0,19 ;e

0,58 0,32

20T © 0,25 0,44

Lg=6,3ca/n?

10--

(0] + + $
-3 -2 -1 0
TE661-6N_3

L/AL luminance contrast
sensitivity threshold

40T X y
A 034 0,40 o158 0 A2 ac &

304 ¥ 045 047 ap 26, AgG
0,45 0,19 .0 ige

Lg=6,3cd/n?

0,58 0,32
20T © 025 044

P
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